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QUESTION 1

An InfoCube has been designed with 2 user-defined Dimensions containing 1 and 3 Characteristics respectively. All
InfoObjects have the same level of master data value cardinality. How can you change the design of the InfoCube to
optimize performance? Select the correct answer.

A. Put all Characteristics in a single user-defined Dimension.

B. Distribute the InfoObjects unevenly between the Dimensions.

C. Make the single InfoObject the one Dimension the key of the InfoCube.

D. Create 2 more Dimensions so that each has only 1 InfoObject.

Correct Answer: D

QUESTION 2

What can you do to have two or more hierarchies with the same technical name? (2)
A. Configure the hierarch as version-dependent

B. Configure the hierarchy to have a time-dependent structure

C. Configure the hierarchy with link nodes

D. Configure the hierarchy as time-dependent

E. Configure the hierarch as version-dependent

Correct Answer: D

QUESTION 3

Which of the following are features of the Write-Optimized DSO? (2)
A. They utilize the single Active Data Table

B. They are intended to contain aggregated data

C. They enable mass data loads

D. They utilize a semantic (business) key for record uniqueness

Correct Answer: AC

QUESTION 4

Which is the best way to model the object "Price?" There are 2 correct answers.
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A. If the price of an object changes slowly, model it as a navigational attribute.

B. If the desired result is the price paid by a customer at the time of the Transaction, model price as a calculated Key
Figure.

C. Leave it out of the data model.
D. If the price of an object changes slowly, model it as a display attribute.

Correct Answer: AB

QUESTION 5

You want postable nodes in a hierarchy to appear in multiple hierarchy branches. What action could you take to
accomplish this? (2)

A. Enter the postable nodes as Link Nodes

B. Configure the hierarchy as time-dependent

C. Create multiple similar hierarchies

D. Configure the hierarchy with a time-dependent structure

Correct Answer: D
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